

NEW IDENTITIES FOR THE ARCTAN FUNCTION

ANTHONY SOFO, JORGE CIMADEVILLA VILLACORTA

ABSTRACT. We consider particular algebraic identities and by the use of the Beta function we derive an infinite set of binomial series for the arctangent function. Setting specific parameter values we obtain a number of new identities for π .

1. INTRODUCTION

In 1671 James Geogory, a Scottish mathematician discovered the arctangent series, see [19]

$$\arctan z = \sum_{n=0}^{\infty} \frac{(-1)^n z^{2n+1}}{2n+1}; \quad -1 < z \leq 1, \quad (1.1)$$

and when $z = 1$ we obtain the Leibniz series of 1674, hence the slow converging series for π . Using his transformation formula [1], in 1755 Euler, [8], discovered

$$\arctan z = \sum_{n=0}^{\infty} \frac{4^n z^{2n+1}}{(1+z^2)^{n+1} (n+1) \binom{2n+1}{n}}, \quad z \in \mathbb{R}. \quad (1.2)$$

Euler's works on infinite series are extensive and the paper by Varadarajan, [20] dealing with this subject is worthwhile consulting for the interested reader. There are also some other works dealing with the expansion of the arctan function. Recently Chen, [7], obtained the nice identity

$$\left(\frac{\arctan z}{z} \right)^n = n! \sum_{k=0}^{\infty} \frac{(-1)^k z^{2k} p_k(n-1)}{2k+n} \quad (1.3)$$

where

$$\begin{aligned} p_k(0) &= 1 \text{ and} \\ p_k(n) &= \sum_{j=0}^k \frac{p_j(n-1)}{2j+n}, \quad \text{for } n = 1, 2, 3, \dots, \end{aligned}$$

2000 *Mathematics Subject Classification*. Primary 05A10, 11B65, Secondary 05A19, 11Y16.
Key words and phrases. ArcTangent functions; Binomial series; Pi series; hypergeometric functions.

©2010 Ilirias Publications, Prishtinë, Kosovë.
Submitted May 31, 2012. Published October 2, 2012.

and when $n = 1$, (1.3) reduces to (1.1). Also, in a similar vein, Adegoke and Layeni, [2] obtained the q^{th} derivative of the arctan z function, viz:

$$\frac{d^q}{dz^q} (\arctan z) = \frac{(-1)^{q-1} (q-1)!}{(1+z^2)^{\frac{q}{2}}} \sin \left(q \arcsin \left(\frac{1}{\sqrt{1+z^2}} \right) \right), \quad (1.4)$$

for $q = 1, 2, 3, \dots$,

however Lampret, [12] noted that (1.4) is incorrect due to some errors in the analysis. Choosing specific parameter values in (1.1), (1.2) and (1.3) we can obtain various series representations for π . In this paper we shall present two algebraic identities from which, through integration and the application of the classical Beta function, we obtain new series expansions of the arctan z function. By appropriate selection of the parameter z we obtain new representations of π . We remind the reader of the following notation which will be useful throughout this paper. The generalized hypergeometric representation ${}_pF_q [\cdot, \cdot]$, is defined as, see [13]

$${}_pF_q \left[\begin{matrix} a_1, a_2, \dots, a_p \\ b_1, b_2, \dots, b_q \end{matrix} \middle| t \right] = \sum_{n=0}^{\infty} \frac{(a_1)_n (a_2)_n \dots (a_p)_n}{(b_1)_n (b_2)_n \dots (b_q)_n} \frac{t^n}{n!} \quad (1.5)$$

where for $w \in \mathbb{C} \setminus \mathbb{Z}_0^-$, $(w)_n$ is Pochhammer's symbol defined by

$$(w)_n = \begin{cases} \frac{\Gamma(w+n)}{\Gamma(w)} = w(w+1)\dots(w+n-1), & \text{for } n \in \mathbb{N} \\ 1, & \text{for } n = 0 \end{cases}, \quad (1.6)$$

we also note that

$$\frac{(w)_n}{(w)_m} = \begin{cases} (w+m)_{n-m}, & \text{for } n > m \\ \frac{1}{(w+n)_{m-n}}, & \text{for } n \leq m \end{cases}. \quad (1.7)$$

Here \mathbb{Z}_0^- denotes the set of non positive integers and the Gamma and Beta functions are defined respectively as

$$\Gamma(z) = \int_0^{\infty} w^{z-1} e^{-w} dw$$

and

$$B(s, z) = B(z, s) = \int_0^1 w^{s-1} (1-w)^{z-1} dw = \frac{\Gamma(s)\Gamma(z)}{\Gamma(s+z)}$$

for The numbers p and q are zero or positive integers (interpreting an empty product as 1) and we assume, for simplicity, that the variable t , the numerator parameters a_1, a_2, \dots, a_p and the denominator parameters b_1, b_2, \dots, b_q take on complex values \mathbb{C} provided that no zeros appear in the denominator of ${}_pF_q [\cdot, \cdot]$, that is $b_j \notin \mathbb{Z}_0^-$; $j = 1, 2, 3, \dots, q$. Hence if a numerator parameter is zero or a negative integer then the hypergeometric series ${}_pF_q [\cdot, \cdot]$ terminates, since, see [18]

$$(-n)_j = \begin{cases} 0, & j > n \\ \frac{(-1)^j n!}{(n-j)!}, & 0 \leq j \leq n; n \in \mathbb{N} \end{cases}.$$

The following Lemmas and Theorems are the main results presented in this paper.

2. THE MAIN RESULTS

The following Lemma will be useful in the proof of the main theorem.

Lemma 2.1. *Let $m \in \mathbb{N} \cup \{0\}$, $\mathbb{N} := 1, 2, 3, \dots$, $x \in \mathbb{R}$ and $z \in \mathbb{R} \setminus \{-1\}$, then*

$$(1+xz) \left[\sum_{i=0}^{m-1} (-xz)^i + \frac{(-xz)^m}{1+z} \right] = 1 + \frac{(-z)^{m+1}}{1+z} x^m (1-x). \quad (2.1)$$

Proof. Consider the left hand side of (2.1), then

$$\begin{aligned} (1+xz) \left[\sum_{i=0}^{m-1} (-xz)^i + \frac{(-xz)^m}{1+z} \right] &= (1+xz) \left[\frac{1-(-xz)^m}{1+xz} + \frac{(-xz)^m}{1+z} \right] \\ &= 1 - (-xz)^m + \frac{(1+xz)(-xz)^m}{1+z} \end{aligned}$$

and the result follows. \square

Theorem 2.2. *Let $m \in \mathbb{N} \cup \{0\}$, $\mathbb{N} := 1, 2, 3, \dots$, $x \in \mathbb{R}$ and $z \in \mathbb{R}$, then*

$$\begin{aligned} \frac{\arctan z}{z} &= \sum_{n=0}^{\infty} \frac{(-1)^{nm} z^{2n(m+1)} n!}{(1+z^2)^n} \left(\sum_{i=0}^{m-1} \frac{(-1)^i z^{2i}}{(2nm+2n+2i+1) \left(i + \frac{1}{2} + mn\right)_n} \right) \\ &+ \sum_{n=0}^{\infty} \frac{(-1)^{n(m+1)} z^{2(nm+n+m)} n!}{(1+z^2)^{n+1} (2nm+2n+2m+1) \left(m + \frac{1}{2} + mn\right)_n}. \end{aligned} \quad (2.2)$$

Proof. From (2.1) and using Lemma 2.1, we replace the variables $x := x^2$, $z := z^2$ and rewrite as

$$\frac{1}{1+(xz)^2} = \frac{\sum_{i=0}^{m-1} (-1)^i (xz)^{2i} + \frac{(-1)^m (xz)^{2m}}{1+z^2}}{1 + \frac{(-1)^{m+1} (z)^{2m+2}}{1+z^2} x^{2m} (1-x^2)}$$

now we expand the denominator as a geometric series, so that

$$\frac{1}{1+(xz)^2} = \sum_{n=0}^{\infty} \frac{(-1)^{n(m+2)} z^{2n(m+1)} x^{2mn} (1-x^2)^n}{(1+z^2)^n} \left[\begin{array}{c} \sum_{i=0}^{m-1} (-1)^i (xz)^{2i} \\ + \frac{(-1)^m (xz)^{2m}}{1+z^2} \end{array} \right].$$

Rearranging and integrating both sides with respect to $x \in [0, 1]$ gives us

$$\int_0^1 \frac{dx}{1+(xz)^2} = \sum_{n=0}^{\infty} \frac{(-1)^{nm} z^{2n(m+1)}}{(1+z^2)^n} \left[\sum_{i=0}^{m-1} (-1)^i z^{2i} \int_0^1 x^{2(nm+i)} (1-x^2)^n dx \right. \\ \left. + \frac{(-1)^m z^{2m}}{1+z^2} \int_0^1 x^{2m(n+1)} (1-x^2)^n dx \right],$$

we notice the integrals can be represented as Beta functions, hence

$$\frac{\arctan z}{z} = \sum_{n=0}^{\infty} \frac{(-1)^{nm} z^{2n(m+1)}}{(1+z^2)^n} \left[\sum_{i=0}^{m-1} \frac{(-1)^i z^{2i}}{2} B\left(n+1, mn+i+\frac{1}{2}\right) \right. \\ \left. + \frac{(-1)^m z^{2m}}{1+z^2} B\left(n+1, mn+m+\frac{1}{2}\right) \right] \\ = \sum_{n=0}^{\infty} \frac{(-1)^{nm} z^{2n(m+1)}}{(1+z^2)^n} \left[\sum_{i=0}^{m-1} \frac{(-1)^i z^{2i} n! \Gamma\left(mn+i+\frac{1}{2}\right)}{2 \Gamma\left(mn+n+i+\frac{3}{2}\right)} \right. \\ \left. + \frac{(-1)^m z^{2m} n! \Gamma\left(mn+m+\frac{1}{2}\right)}{(1+z^2) \Gamma\left(mn+n+m+\frac{3}{2}\right)} \right] \\ = \sum_{n=0}^{\infty} \frac{(-1)^{nm} z^{2n(m+1)} n!}{(1+z^2)^n} \left[\sum_{i=0}^{m-1} \frac{(-1)^i z^{2i} \left(i+\frac{1}{2}\right)_{mn}}{(2i+1) \left(i+\frac{3}{2}\right)_{n(m+1)}} \right. \\ \left. + \frac{(-1)^m z^{2m} \left(m+\frac{1}{2}\right)_{mn}}{(1+z^2) (2m+1) \left(m+\frac{3}{2}\right)_{n(m+1)}} \right].$$

Using the relational properties (1.6) and (1.7) of the Pochhammer function we can display

$$\frac{\arctan z}{z} = \sum_{n=0}^{\infty} \frac{(-1)^{nm} z^{2n(m+1)} n!}{(1+z^2)^n} \left[\sum_{i=0}^{m-1} \frac{(-1)^i z^{2i}}{(2nm+2n+2i+1) \left(i+\frac{1}{2}+mn\right)_n} \right. \\ \left. + \frac{(-1)^m z^{2m}}{(1+z^2) (2nm+2n+2m+1) \left(m+\frac{1}{2}+mn\right)_n} \right]$$

and the result (2.2) follows. We can also rewrite (2.2) in more familiar form

$$\frac{\arctan z}{z} = \sum_{i=0}^{m-1} 2(-1)^i z^{2i} \times \\ \sum_{n=0}^{\infty} \frac{(-1)^{nm} z^{2n(m+1)} 4^n \binom{2nm+2i}{nm+i}}{(n+1)(1+z^2)^n \binom{2(nm+i+n+1)}{nm+i+n+1} \binom{nm+i+n+1}{nm+i}}$$

$$+ \sum_{n=0}^{\infty} \frac{2(-1)^{n(m+1)} z^{2(nm+n+m)} 4^n \binom{2nm+2m}{nm+i}}{(n+1)(1+z^2)^{n+1} \binom{(m+1)(n+1)}{m(n+1)} \binom{2(m+1)(n+1)}{(m+1)(n+1)}}.$$

□

Remark. For special values of z the series (2.2) does not converge to π faster than the classical Ramanujan series or the BBP-type formulas, [21]. However (2.2) is another new interesting representation of the arctan z function.

We now highlight some examples.

Example 1. For $z = 1$, we have the general representation

$$\frac{\pi}{4} = \sum_{n=0}^{\infty} \frac{(-1)^{nm} n!}{2^n} \left[\frac{\sum_{i=0}^{m-1} \frac{(-1)^i}{(2nm+2n+2i+1) \left(i+\frac{1}{2}+mn\right)_n}}{+ \frac{(-1)^m}{2(2nm+2n+2m+1) \left(m+\frac{1}{2}+mn\right)_n}} \right]$$

Example 2. For $m = 0$ the first term on the right hand side of (2.2) vanishes, therefore

$$\begin{aligned} \frac{\arctan z}{z} &= \sum_{n=0}^{\infty} \frac{z^{2n} n! \left(\frac{1}{2}\right)_0}{(1+z^2)^{n+1} \left(\frac{3}{2}\right)_n}, \\ &= \frac{1}{1+z^2} {}_2F_1 \left[\begin{matrix} 1, 1 \\ \frac{3}{2} \end{matrix} \middle| \frac{z^2}{1+z^2} \right] \end{aligned}$$

using the properties of the Pochhammer and Gamma functions we recover Euler's identity (1.2). Where ${}_pF_q [\cdot, \cdot]$ is the hypergeometric function as defined in (1.5) and follows by the consideration of

$$\frac{T_{n+1}}{T_n} \text{ where } T_n = \frac{4^n z^{2n+1}}{(1+z^2)^{n+1} (n+1) \binom{2n+1}{n}}.$$

Example 3. For $m = 1$

$$\begin{aligned} \frac{\arctan z}{z} &= \sum_{n=0}^{\infty} \frac{(-1)^n z^{4n} n!}{(1+z^2)^n} \left[\frac{1}{(4n+1) \left(n+\frac{1}{2}\right)_n} - \frac{z^2}{(1+z^2)(4n+3) \left(n+\frac{3}{2}\right)_n} \right] \\ &= \sum_{n=0}^{\infty} \frac{(-1)^n z^{4n} n!}{(1+z^2)^n \left(n+\frac{1}{2}\right)_n} \left[\frac{1}{(4n+1)} - \frac{z^2(2n+1)}{(1+z^2)(4n+3)(4n+1)} \right] \\ &= \sum_{n=0}^{\infty} \frac{(-1)^n z^{4n} 4^n (2z^2(n+1) + 4n+3)}{(1+z^2)^{n+1} (4n+1)(4n+3) \binom{4n}{2n}} \end{aligned}$$

$$\begin{aligned}
&= \frac{(2z^2 + 3)}{3(1 + z^2)} {}_3F_2 \left[\begin{matrix} \frac{1}{2}, 1, 1 \\ \frac{5}{4}, \frac{7}{4} \end{matrix} \middle| -\frac{z^4}{4(1 + z^2)} \right] \\
&\quad - \frac{4z^4(z^2 + 2)}{105(1 + z^2)^2} {}_3F_2 \left[\begin{matrix} \frac{3}{2}, 2, 2 \\ \frac{9}{4}, \frac{11}{4} \end{matrix} \middle| -\frac{z^4}{4(1 + z^2)} \right] \\
&= \frac{(2z^2 + 3)}{3(1 + z^2)} {}_4F_3 \left[\begin{matrix} \frac{1}{2}, 1, 1, \frac{4z^2+7}{2(z^2+2)} \\ \frac{5}{4}, \frac{7}{4}, \frac{2z^2+3}{2(z^2+2)} \end{matrix} \middle| -\frac{z^4}{4(1 + z^2)} \right]
\end{aligned}$$

and when $z = 1$,

$$\frac{\pi}{4} = \sum_{n=0}^{\infty} \frac{(-1)^n 4^n (6n + 5)}{2^{n+1} (4n + 1)(4n + 3) \binom{4n}{2n}}.$$

Example 4. For $m = 2$

$$\begin{aligned}
\frac{\arctan z}{z} &= \sum_{n=0}^{\infty} \frac{z^{6n} n!}{(1 + z^2)^n} \left[\begin{matrix} \frac{1}{(6n+1)(2n+\frac{1}{2})_n} - \frac{z^2}{(6n+3)(2n+\frac{3}{2})_n} \\ -\frac{z^4}{(1+z^2)(6n+5)(2n+\frac{5}{2})_n} \end{matrix} \right] \\
&= \sum_{n=0}^{\infty} \frac{2 z^{6n} 4^{n+1} \binom{4n}{2n} A(n, z)}{(1 + z^2)^{n+1} (n + 3)(n + 2)(n + 1) \binom{6n + 6}{3n + 3} \binom{3n + 3}{2n}}
\end{aligned}$$

where

$$A(n, z) = (1 + z^2)(6n + 5)(6n + 3) - z^2(1 + z^2)(4n + 1)(6n + 5) + z^4(4n + 1)(4n + 3).$$

For $z = 1$

$$\frac{\pi}{4} = \sum_{n=0}^{\infty} \frac{4^{n+1} \binom{4n}{2n} (40n^2 + 60n + 23)}{2^n (n + 3)(n + 2)(n + 1) \binom{6n + 6}{3n + 3} \binom{3n + 3}{2n}}$$

Example 5. In the case of $m = 3$ and $z = \frac{1}{\sqrt{3}}$, from (2.2) we have, omitting the algebraic details,

$$\pi = \frac{\sqrt{3}}{2} \sum_{n=0}^{\infty} \frac{(-1)^n \binom{6n}{3n} (1640n^3 + 3148n^2 + 1934n + 381)}{3^{3n} \binom{8n}{4n} \binom{4n}{3n} (8n + 7)(8n + 5)(8n + 3)(8n + 1)}.$$

There are many interesting representations of π , see for example [3], [4], [5], [6], [9], [10], [11], [14], [15], [16], [17], and the references therein.

Remark. From any of these five examples or from (2.2), it is possible to obtain the derivatives of the arctan z function. From example 2, for $q = 1, 2, 3, \dots$

$$\begin{aligned}
\frac{d^q}{dz^q}(\arctan z) &= \sum_{n=0}^{\infty} \frac{n!}{\left(\frac{3}{2}\right)_n} \frac{d^q}{dz^q} \left(\frac{z^{2n+1}}{(1+z^2)^{n+1}} \right) \\
&= \sum_{n=0}^{\infty} \frac{n!}{\left(\frac{3}{2}\right)_n} \frac{d^q}{dz^q} \left(\sum_{r=0}^{\infty} (-1)^r \binom{r+n}{r} z^{2r+2n+1} \right) \\
&= \sum_{n=0}^{\infty} \frac{n!}{\left(\frac{3}{2}\right)_n} \sum_{r=0}^{\infty} (-1)^r \binom{r+n}{r} q! \binom{2r+2n+1}{q} z^{2r+2n+1-q} \\
&= \sum_{n=0}^{\infty} \frac{n! q! z^{2n+1-q}}{\left(\frac{3}{2}\right)_n} \binom{2n+1}{q} {}_3F_2 \left[\begin{matrix} n+1, n+1, n+\frac{3}{2} \\ n+1-\frac{q}{2}, n+\frac{3}{2}-\frac{q}{2} \end{matrix} \middle| -z^2 \right], \text{ for } |z| \leq 1.
\end{aligned}$$

The next Lemma introduces a new generalized algebraic identity, similar to Lemma 2.1, and following the ideas used in Theorem 2.2 allows us to develop some new arctan z identities.

Lemma 2.3. Let $m \in \mathbb{N} \cup \{0\}$, $\mathbb{N} := 1, 2, 3, \dots$, $x \in \mathbb{R}$ and $z \in \mathbb{R} \setminus \{-1\}$, also let $\{U_i\}_{i=0}^m$ be a set of positive real numbers, then

$$\begin{aligned}
(1+xz) &\left[\sum_{i=0}^m U_i z^i + \sum_{r=1}^m (-1)^r (xz)^r \sum_{i=0}^{m-r} U_i z^i \right] \\
&= \sum_{i=0}^m U_i z^i + xz^{m+1} \sum_{r=0}^m (-1)^r U_{m-r} x^r
\end{aligned} \tag{2.3}$$

Proof. The proof follows the same idea as used in Lemma 2.1. Expand the left hand side of (2.3) collect terms, hence we are done. \square

Theorem 2.4. Let $m \in \mathbb{N} \cup \{0\}$, $\mathbb{N} := 1, 2, 3, \dots$, $x \in \mathbb{R}$ and $z \in \mathbb{R}$, also let $\{U_i\}_{i=0}^m$ be a set of positive real numbers, then

$$\begin{aligned}
\frac{\arctan z}{z} &= \sum_{n=0}^{\infty} (-1)^n \int_{x=0}^1 \left(1 + \frac{\sum_{r=1}^m (-1)^r (xz)^{2r} \sum_{i=0}^{m-r} U_i z^{2i}}{\sum_{i=0}^m U_i z^{2i}} \right) \times \\
&\quad \left(\frac{x^{2n} z^{2n(m+1)} \left[\sum_{r=0}^m (-1)^r U_{m-r} x^{2r} \right]^n}{\left[\sum_{i=0}^m U_i z^{2i} \right]^n} \right) dx
\end{aligned} \tag{2.4}$$

Proof. Using Lemma 2.3, we replace the variables $x \rightarrow x^2$, $z \rightarrow z^2$ and rewrite as

$$\frac{1}{1+(xz)^2} = \frac{1 + \frac{\sum_{r=1}^m (-1)^r (xz)^{2r} \sum_{i=0}^{m-r} U_i z^{2i}}{\sum_{i=0}^m U_i z^{2i}}}{1 + \frac{x^2 z^{2(m+1)} \sum_{r=0}^m (-1)^r U_{m-r} x^{2r}}{\sum_{i=0}^m U_i z^{2i}}}$$

if we now expand the denominator as a geometric series and integrate both sides with respect to $x \in [0, 1]$ we obtain the identity (2.4). \square

By appropriate choices of the set of real positive numbers $\{U_i\}_{i=0}^m$ it is possible to explicitly integrate (2.4) therefore producing a set of new identities for the arctan z function. Two examples are highlighted.

EXAMPLE 6. For $m = 2$, put $U_0 = 1$, $U_1 = 2$, $U_2 = 1$, therefore

$$\begin{aligned} \frac{\arctan z}{z} &= \int_{x=0}^1 \frac{1 - \frac{(xz)^2(1+2z^2)}{(1+z^2)^2} + \frac{(xz)^4}{(1+z^2)^2}}{1 + \frac{x^2 z^6 (1-x^2)^2}{(1+z^2)^2}} dx \\ &= \sum_{n=0}^{\infty} \frac{(-1)^n z^{6n}}{(1+z^2)^{2n}} \int_{x=0}^1 x^{2n} (1-x^2)^{2n} \left[1 - \frac{(xz)^2(1+2z^2)}{(1+z^2)^2} + \frac{(xz)^4}{(1+z^2)^2} \right] dx, \end{aligned}$$

the integrals, as in Theorem 2.2, are special cases of the Beta function and therefore may be evaluated to produce

$$\begin{aligned} \frac{\arctan z}{z} &= \sum_{n=0}^{\infty} \frac{(-1)^n n! z^{6n}}{(1+z^2)^{2n}} \left[\frac{1}{(n+\frac{1}{2})_{2n+1}} - \frac{z^2(1+2z^2)}{(1+z^2)^2(n+\frac{3}{2})_{2n+1}} \right. \\ &\quad \left. + \frac{z^4}{(1+z^2)^2(n+\frac{5}{2})_{2n+1}} \right] \\ &= \sum_{n=0}^{\infty} \frac{(-1)^n z^{6n} 4^{2n} \binom{2n}{n} Q(n, z)}{(1+z^2)^{2n+2} 3(6n+1)(6n+5) \binom{6n}{3n} \binom{3n}{n}} \end{aligned}$$

where $Q(n, z) = 8z^4(n+1) + 5z^2(6n+5) + 3(6n+1)$. In hypergeometric form

$$\begin{aligned} \frac{\arctan z}{z} &= \frac{z^4}{5(1+z^2)^2} {}_4F_3 \left[\begin{matrix} \frac{5}{2}, 1, 1, \frac{1}{2} \\ \frac{11}{6}, \frac{9}{6}, \frac{7}{6} \end{matrix} \middle| -\frac{4z^6}{27(1+z^2)^2} \right] \\ &\quad + \frac{z^4 + 5z^2 + 3}{3(1+z^2)^2} {}_3F_2 \left[\begin{matrix} 1, 1, \frac{1}{2} \\ \frac{7}{6}, \frac{5}{6} \end{matrix} \middle| -\frac{4z^6}{27(1+z^2)^2} \right] \end{aligned}$$

where $\left| \frac{4z^6}{27(1+z^2)^2} \right| \leq 1$. When $z = \frac{1}{\sqrt{3}}$

$$\pi = \frac{1}{4\sqrt{3}} \sum_{n=0}^{\infty} \frac{(-1)^n \binom{2n}{n} (130n+109)}{3^n \binom{6n}{3n} \binom{3n}{n} (6n+1)(6n+5)}.$$

EXAMPLE 7. For $m = 3$, put $U_0 = 1$, $U_1 = U_2 = 3$, $U_3 = 1$, therefore

$$\frac{\arctan z}{z} = \int_{x=0}^1 \frac{1 - \frac{(xz)^2(1+3z^2+3z^4)}{(1+z^2)^3} + \frac{(xz)^4(1+3z^2)}{(1+z^2)^2} - \frac{(xz)^6}{(1+z^2)^3}}{1 + \frac{x^2 z^8 (1-x^2)^3}{(1+z^2)^3}} dx.$$

Choosing $z = \frac{1}{\sqrt{3}}$, and omitting the algebraic details, we obtain the identity

$$\begin{aligned} \pi &= \frac{3\sqrt{3}}{8} \sum_{n=0}^{\infty} \frac{(-1)^n \binom{2n}{n} (2522n^3 + 4715n^2 + 2775n + 508)}{3^n \binom{8n}{4n} \binom{4n}{n} (8n+1)(8n+3)(8n+5)(8n+7)} \\ &= a {}_5F_4 \left[\begin{matrix} 1, 1, \frac{2}{3}, \frac{1}{2}, \frac{1}{3} \\ \frac{15}{8}, \frac{13}{8}, \frac{11}{8}, \frac{9}{8} \end{matrix} \middle| -\frac{3^2}{2^{14}} \right] - b {}_5F_4 \left[\begin{matrix} 2, 2, \frac{5}{3}, \frac{3}{2}, \frac{4}{3} \\ \frac{23}{8}, \frac{21}{8}, \frac{19}{8}, \frac{17}{8} \end{matrix} \middle| -\frac{3^2}{2^{14}} \right] \\ &\quad + c {}_5F_4 \left[\begin{matrix} 3, 3, \frac{8}{3}, \frac{5}{2}, \frac{7}{3} \\ \frac{31}{8}, \frac{29}{8}, \frac{27}{8}, \frac{25}{8} \end{matrix} \middle| -\frac{3^2}{2^{14}} \right] - d {}_5F_4 \left[\begin{matrix} 4, 4, \frac{11}{3}, \frac{7}{2}, \frac{10}{3} \\ \frac{39}{8}, \frac{37}{8}, \frac{35}{8}, \frac{33}{8} \end{matrix} \middle| -\frac{3^2}{2^{14}} \right] \end{aligned}$$

where

$$\begin{aligned} b &= \frac{2503}{2^3 \cdot 3^2 \cdot 5^2 \cdot 7 \cdot 11 \cdot 13 \cdot \sqrt{3}}, \quad c = \frac{12281}{2^4 \cdot 3^2 \cdot 5 \cdot 7^2 \cdot 11 \cdot 13 \cdot 17 \cdot 19 \cdot 23 \cdot \sqrt{3}} \\ d &= \frac{97}{2^3 \cdot 3^3 \cdot 5^2 \cdot 7 \cdot 11 \cdot 17 \cdot 19 \cdot 23 \cdot 29 \cdot 31 \cdot \sqrt{3}}, \quad a = \frac{127\sqrt{3}}{70} \end{aligned}$$

Remark. We wish to point out that from the identity

$$\frac{1}{1-xz} = \frac{\sum_{i=0}^{m-1} (xz)^i + \frac{(xz)^m}{1-z}}{1 + \frac{z^{m+1}}{1-z} x^m (1-x)}; \quad x \neq 1, \quad z \neq 1, \quad (2.5)$$

it may be possible to obtain further identities for the arctan z function. Integrating (2.5) as follows

$$\int_{x=0}^1 \frac{x^{\alpha-1} (1-x)^{\beta-1}}{1-xz} dx = \int_{x=0}^1 x^{\alpha-1} (1-x)^{\beta-1} \left(\frac{\sum_{i=0}^{m-1} (xz)^i + \frac{(xz)^m}{1-z}}{1 + \frac{z^{m+1}}{1-z} x^m (1-x)} \right) dx \quad (2.6)$$

produces, on the left hand side, for $\Re(\alpha) > 0$ and $\Re(\beta) > 0$

$$\frac{\Gamma(\alpha)\Gamma(\beta)}{\Gamma(\alpha+\beta)} \sum_{n=0}^{\infty} \frac{(\alpha)_n z^n}{(\alpha+\beta)_n} = \frac{\Gamma(\alpha)\Gamma(\beta)}{\Gamma(\alpha+\beta)} {}_2F_1 \left[\begin{matrix} 1, \alpha \\ \alpha + \beta \end{matrix} \middle| z \right].$$

Expanding the right hand side of (2.6) in the same way as in Theorem 2.2 allows us to obtain interesting identities of the form

$$\frac{\Gamma(\frac{\alpha}{2} + 1)\Gamma(\frac{1}{2})}{\Gamma(\frac{\alpha}{2} + \frac{1}{2})} = \sum_{n=0}^{\infty} \frac{(-1)^n (\alpha)_n (1 - \frac{\alpha}{2})_n (6n + 2 + 3\alpha)}{2^{n+1} (\frac{\alpha}{2} + 1)_{2n+1}}.$$

Acknowledgement. The first author would like to thank H. H. Chan, G. Andrews, F. Chamizo, J. Guillera and J. Sondow for their invaluable assistance.

REFERENCES

- [1] M. Abramowitz and I.A. Stegun (eds). *Handbook of Mathematical Functions with formulas graphs and mathematical tables*. Dover, New York, 1972.
- [2] K. Adegoke and O. Layeni. The higher derivatives of the inverse tangent function and rapidly convergent BBP-type formulas for pi, *Appl. Math. E-Notes*, **10** (2010), 70-75.
- [3] G. Almkvist, C. Krattenthaler and J. Petersson. Some new formulas for π , *Exp. Math.*, **12** (2003), 441-456.
- [4] B. Berndt. *Ramanujans Notebooks*. Springer Verlag, NEw York. Part I, 1985. PartII, 1989. Part III, 1991. Part IV, 1994, Part V, 1998.
- [5] J. Borwein and P. Borwein. *Pi and the AGM: A study in Analytic Number Theory and Computational Complexity*. Wiley, New York, reprinted 1998.
- [6] J.M. Borwein and R. Girgensohn. Evaluations of binomial series. *Aequationes Mathematicae*, **70** (2005), 25 -36.
- [7] H. Chen. Integer powers of $x^{-1} \arctan x$. *Int. J. Pure Applied Math.*, **59** (2010), 349-356.
- [8] L. Euler. Investigatio quarundam serierum quae ad rationem peripheriae circuli ad diametrum vero proxime definiendam maxime sunt accommodatae. *Nova acta academiae scientiarum petropolitanae*, **11** (1798), 150-154.
- [9] J. Guillera. Easy proofs of some Borwein algorithms for π , *Amer. Math. Monthly*, **115** (9), (2008), 850-854.
- [10] J. Guillera. History of the formulas and algorithms for π , *Contemp. Math.*, **517** (2010), 173-188.
- [11] J. Guillera and J. Sondow. Double integrals and infinite products for some classical constants via analytic continuations of Lerch,s transcendent, *Ramanujan J.* **16** (3) (2008), 247-270.
- [12] V. Lampret. The higher derivatives of the inverse tangent function revisited, *Appl. Math. E-Notes*, **11** (2011), 224-231.
- [13] E. D. Rainville. *Special functions*. Macmillan, New York, 1960.
- [14] G. Scarpello and D. Ritelli. π and the hypergeometric functions of complex argument, *J. Numb. Theory*, **131** (2011), 1887-1900.
- [15] P. Sebah and X. Gourdon. *Collection of Series for π* . 2011, <http://numbers.computation.free.fr/Constants/Pi/piSeries.html>.
- [16] A. Sofo. *Computational techniques for the summation of series*, Kluwer Academic/Plenum Publishers, 2003.
- [17] A. Sofo. π and some other constants, *Journal Ineq. Pure & Appl. Math.*, **6** (2005), Article 138.2005.
- [18] H. M. Srivastava and J. Choi. *Series Associated with the Zeta and Related Functions*. Kluwer Academic Publishers, London, 2001.
- [19] I. Tweedle. *James Stirling's methodus differentialis*. Springer London Ltd. 2003.
- [20] V. S. Varadarajan. Euler and his work on infinite series, *Bull. Amer. Math. Soc.* **44** (2007), 515-539.
- [21] Weisstein, Eric W. "Pi Formulas." From MathWorld—A Wolfram Web Resource. <http://mathworld.wolfram.com/PiFormulas.html>.

A. SOFO

VICTORIA UNIVERSITY, PO BOX 14428, MELBOURNE CITY, VIC 8001, AUSTRALIA.

E-mail address: anthony.sofov@vu.edu.au,

JORGE CIMADEVILLA VILLACORTA

ALAVA 48, 1D, 33210 GIJON, SPAIN.

E-mail address: villacorta1968@hotmail.com